
■ つぎの  にあてはまる かけ算の 答えを かきましょう。

2 × 34 ＝ 68①

2 × 35 =

2 × 36 ＝ 72

5 × 10 ＝ 50②

5 × 11 =

5 × 12 ＝ 60

3 × 13 ＝ 39③

3 × 14 =

3 × 15 ＝ 45

9 × 10 ＝ 90④

9 × 11 =

9 × 12 ＝ 108

2 × 21 ＝ 42⑤

2 × 22 =

2 × 23 ＝ 46

2 × 12 ＝ 24⑥

2 × 13 =

2 × 14 ＝ 28

3 × 30 ＝ 90⑦

3 × 31 =

3 × 32 ＝ 96

6 × 11 ＝ 66⑧

6 × 12 =

6 × 13 ＝ 78

2 × 46 ＝ 92⑨

2 × 47 =

2 × 48 ＝ 96

4 × 17 ＝ 68⑩

4 × 18 =

4 × 19 ＝ 76

7 × 12 ＝ 84⑪

7 × 13 =

7 × 14 ＝ 98

3 × 25 ＝ 75⑫

3 × 26 =

3 × 27 ＝ 81
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■ つぎの  にあてはまる かけ算の 答えを かきましょう。

2 × 34 ＝ 68①

2 × 35 =

2 × 36 ＝ 72

＋270

5 × 10 ＝ 50②

5 × 11 =

5 × 12 ＝ 60

＋555

3 × 13 ＝ 39③

3 × 14 =

3 × 15 ＝ 45

＋342

9 × 10 ＝ 90④

9 × 11 =

9 × 12 ＝ 108

＋999

2 × 21 ＝ 42⑤

2 × 22 =

2 × 23 ＝ 46

＋244

2 × 12 ＝ 24⑥

2 × 13 =

2 × 14 ＝ 28

＋226

3 × 30 ＝ 90⑦

3 × 31 =

3 × 32 ＝ 96

＋393

6 × 11 ＝ 66⑧

6 × 12 =

6 × 13 ＝ 78

＋672

2 × 46 ＝ 92⑨

2 × 47 =

2 × 48 ＝ 96

＋294

4 × 17 ＝ 68⑩

4 × 18 =

4 × 19 ＝ 76

＋472

7 × 12 ＝ 84⑪

7 × 13 =

7 × 14 ＝ 98

＋791

3 × 25 ＝ 75⑫

3 × 26 =

3 × 27 ＝ 81

＋378

かけ算を 広げて
年 組 名前

/１２


